7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 2 $

MOTION & CONTROL

NSK

ROBOT MODULE™ MR SERIES

High precision motor ready linear system adaptable to common
motor sizes including NEMA 23 & 34 and 60mm metric frame motors.

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

Quick Reference

5/11/09

3:44 PM Page 3 $

Robot Module” — MR Series

-

-

Combining
Brackets
Pages 37 to 39

Support Slide
Pages 35 & 36

Motor
Mounting Kit
Page 17 & 18

RS Module
Pages 11 & 12

RM Module
Page 14

RH Module
including
extended stroke
Pages 15 & 16

Multi Axis
Combinations
Pages 21 to 34

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 44 $

Table of Gontents

General information, features, module construction, and CAD datadownloads ......................... Page 3
ProdUCT lINE . . . e e Page 4
ApPpliCation EXamPIES . . .. Pages 5 & 6
Reference numbers, motor mounting positions and listof modules .................... ... ... ..... Page 7 & 8
Single axis SEleCHION . ... ... e e e Pages 9 & 10
RS Module - Left Motor MOUNt . ... ... e e e Page 11
RS Module - Right motor moUNt . ... ... e e e e e Page 12
RM moOdUIE . . . e Page 14
RH mMoOdUIE . .. e e Page 15
RH EXT stroke module . .. ... ... e e e e e Page 16
Motor mounting Kits ... ... e e Pages 17 & 18
Motor interface dimMENSIONS . . ... ... e e e Page 19
2 AXis combiNation OVEIVIEW . . . . .. e Page 21
Combination type: RG-MS .. ... e e Page 22
Combination type: RG-HM . . ... e e e Pages 23 & 24
Combination type: RD-MS . .. .. e e e Page 25
Combination type: RD-HM .. ... e e e e Page 26
Combination type: RX-HM . . ... e e e Page 27
Combination type: RX-HH . ... e e e Page 28
Combination type: RC-MS . ... .. e e e e Page 29
3 AXis combiNation OVEIVIEW . . . . .. e Page 30
Combination type: RP-HMS . . ... e e Pages 31 & 32
Combination type: RP-MSS ... .. e e e Page 33
Combination type: RJ-HMS . . .. .. e e e Page 34
Accessory support slide for combination types: RG-HM &RP-HMS .. .. ........................ Pages 35 & 36
Combining brackets . .. ... .. i e e Pages 37 to 39
Module MouNnting Plates . ... ..o e Page 40
Limit SENSOr KitS . . . .o e Page 41
Square nut for module t-Sl0tS . .. .. ... e e Page 42
( 1-800-255-4773 e www.nskprecision.com ) NSK‘Z

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



Robot Module” — MR Series
General

7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 5 $

Robot Modules are complete linear axis high precision systems for semiconductor, electronic, medical and automated
assembly and production applications. High-quality NSK Linear Guides, NSK Ball Screws and NSK Monocarriers ensure
high level of mechanical reliability and U.S. manufacturing results in faster product delivery. NSK offers this sophisticated
technology in an ergonomic design enclosed in an aluminum housing. The motorless design of these Robot Modules allows
users the flexibility to choose their preferred motors when designing new systems or automating existing processes.

Features

Utilization of NSK Robot Modules provides the
following advantages:

e NSK components ensure high mechanical reliability of each
axis resulting in systems with high rigidity, long life and
smooth motion.

e Reduced time and labor costs associated with a
pre-assembled axis.

e 3 different types available - RS (small), RM (medium) and RH

(heavy) to meet application stroke and payload requirements.

e Standard patented K1™ Lubrication Units on the NSK
Ball Screws, Linear Guides and Monocarriers provide
maintenance-free operation up to 50000 km or 5 years.

e Combination brackets are available for attaching individual
Robot Modules together into two- or three-axes
configurations.

¢ Module Mounting Plates are available for attaching
Robot Modules to your machine.

e Motor Mounting Kits are available for 60mm metric
frame, NEMA 23 and NEMA 34 motor interfaces.

e Optional Stroke Limit and Home Position sensor kits.
e Motorless design offers user flexibility for motors of choice.
e Most Robot Modules sizes available from stock.

e Equipped with seal belt for dust resistance.

CAD Data Downloads

/ Module Construction

Motor
Mounting
Interface

T-Slots for Mounting
Accessories

\_

Module Main Body

~

)

SolidComponents™

To make it easy for you to obtain 2D/3D CAD files and technical information for NSK’s Robot Modules, NSK has partnered

with Solid Components. Visit NSK’s website (www.nskprecision.com) and click on CAD files to download.

3/NSK ( 1-800-255-4773

e www.nskprecision.com

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09

3:44 PM Page 42

—p—

Robot Module” — MR Series

Product Line

-

Multi Axis Combinations

(Pages 21 to 34)

N O

~

RS Module RM Module RH Module
(Pages 11 & 12) (Page 14) (Pages 15 & 16)
Motor Mounting Kit Support Slide Combining Brackets
(Pages 17 & 18) (Pages 35 & 36) (Pages 37 to 39)

C

1-800-255-4773 o

www.nskprecision.com

) NSK|4

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 7 $

Robot Module™ — MR Series
Application Examples

KI -Transfer of syringes . \ /Z—Palletization of \

electronic parts

“0

Pallet

\_

/3—Loader/unloader for

AN

\_
>

4-Loader/unloader for inspection device

)
N

CCD camera

Gripper
Magnet roller

\ AN
/5—Screw-tightening machine in assembly line \

Main unit
stroke Screw hopper

AN J

5‘NSK ( 1-800-255-4773 e www.nskprecision.com )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 40 $

/7—Automobile taillight bonding \ /S—Deflashing device for \
core of sand mold

Main unit
stroke

7

Round bar

Flash

Core of sand-mold
for engine

-
-

9 - Polyethylene can processing machine

AN

o J
>

10- Parts loader/unloader for processing machinery\

( 1-800-255-4773 e www.nskprecision.com )NSK‘G

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 9 $

Robot Module” — MR Series
Reference Numbers

The reference number for the Robot Module is composed of the basic specifications of the unit.

Example XY-HRS o|10 - RS 1 L A F

Robot Module Stroke Ex. Type

010: 100mm RS

RM

RH Ball
Screw
Lead
1: 10mm
2: 20mm
4: 40mm

Motor Mounting
RS Module ordering directions S: Straight

L: Left Motor

The RS Module is delivered with right or left motor mounts pre- R: Right Motor

assembled. It is not available in a straight motor mount configuration
or with no motor mount attached. The RS Modules are available with

) ) Motor Interface
metric or NEMA 23 motor mounting hole patterns. A: Metric
B: NEMA 23

. . . N: No Motor
RH and RM Module ordering directions .
Both the modules and motor mounting kits are purchased separately.
Motor mounting kits for the RM and RH modules are available with
metric, NEMA 23 or NEMA 34 motor mounting hole patterns.
7‘ NSK C 1-800-255-4773 o www.nskprecision.com )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 38

Motor Mounting Positions

/Straight Motor

Straight

—p—

\ /Right Motor

Right

|

/ Left Motor

Left

||

|:| |: Slider Slider
Slider Main unit Main unit
Main unit
List of Modules
Linear Guide
1
Robot Stroke (mm) Ball Screw Payload, kg Moment Capacities Nm*?
Ll L Horizontal | Vertical [Rolling | Pitching | Yawing
RS Type | 100 | 200 300 400 500 10 mm 20 20 32 24 24
RM Type 250 350 450 750 950 10 mm 40 40 70 120 120
RM Type 250 350 450 750 950 20 mm 40 20 70 120 120
RH Type 300 400 500 600 800 1000 10 mm 200 40 600 450 400
RH Type 300 400 500 600 800 1000/1200{1400(1600(1800 (2000 20 mm 80 20 600 450 400
RH Type 1200{1400/1600(1800|2000{ 40 mm 80 20 600 450 400
Notes:
1) If your payload exceeds listed value call NSK.
2) The individual moment capacities are defined as the value at which the fatigue life is 10,000 km when that moment acts continuously on the linear guide.
C 1-800-255-4773 o www.nskprecision.com ) NSK‘ 8

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09

3:44 PM Page 11 $

Robhot Module™ — MR Series
Single Axis Selection

RS Module - Left Motor Mount

XY-HRS080-RH1SNF
XY-HRS080-RH2SNF
XY-HRS100-RH1SNF
XY-HRS100-RH2SNF

(NEMA 23-3/8" shaft)
or
XY-P5718RM
(NEMA 34-1/2" shaft)

Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS010-RS1LAF
XY-HRS020-RS1LAF
XY-HRS030-RS1LAF
XY-HRS040-RS1LAF
XY-HRS050-RS1LAF
Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1
XY-HRS010-RS1LBF
XY-HRS020-RS1LBF
XY-HRS030-RS1LBF
XY-HRS040-RS1LBF
XY-HRS050-RS1LBF
RS Module - Right Motor Mount
Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS010-RS1RAF
XY-HRS020-RS1RAF
XY-HRS030-RS1RAF
XY-HRS040-RS1RAF
XY-HRS050-RS1RAF
Pre-installed XY-P170S-2 XY-L3544RM XY-P170M3-1
XY-HRS010-RS1RBF
XY-HRS020-RS1RBF
XY-HRS030-RS1RBF
XY-HRS040-RS1RBF
XY-HRS050-RS1RBF
RM Module - Straight Motor Mount
Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS025-RM1SNF XY-P5586RM
XY-HRS025-RM2SNF (NEMA 23-1/4" shaft)
XY-HRS035-RM1SNF or
A (NEI\I)I(/\\(-1545?38/é73w\ghaft)
XY-HRS045-RM1SNF or
XY-HRS045-RM2SNF XY-P5588RM XY-P170M-1 XY-L3543RM XY-P170M3-1
XY-HRS055-RM1SNF (Metric)
XY-HRS055-RM2SNF XY_P5°7V17RM
S SR (NEMA 23-3/8" shaft)
XY-HRS075-RM2SNF or
XY-HRS095-RM1SNF XY-P5718RM
XY-HRS095-RM2SNE (NEMA 34-1/2" shaft)
RH Module - Straight Motor Mount, Stroke < 1000mm
Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS030-RH1SNF XY-P5586RM
XY-HRS030-RH2SNF (NEMA 23-1/4" shaft)
XY-HRS040-RH1SNF or
XY-HRS040-RH2SNF XY-P5587RM
XY-HRS050-RH1SNF (NEMA 34(33/ 8" shaft
XY-HRS050-RH2SNF XY-P5588RM XY-P170H-1 XY-L3542RM XY-P170M3-1
XY-HRS060-RH1SNF (Metric)
XY-HRS060-RH2SNF wr
XY-P5717RM

9/NSK (

1-800-255-4773 e www.nskprecision.com

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09 3:44 PM Page 36

—p—

Robot Module” — MR Series
Single Axis Selection

RH Module - Left and Right Motor Mount, Stroke > 1200mm

Reference Number Motor Mounting Kit Module Mounting Plate Limit Sensor Kit Square Nut
XY-HRS120-RH2SNF XY-P5743RM

NEMA 23, 1:1
XY-HRS120-RH4SNF o

XY-P5744RM
XY-HRS140-RH2SNF NEMA 23, 2:1
XY-HRS140-RH4SNF or

XY-P5745RM
XY-HRS160-RH2SNF NEMA 34, 1:1

XY-P170H-1 XY-L3542RM XY-P170M3-1

XY-HRS160-RHASNF XY-PST46RM
XY-HRS180-RH2SNF NEMA 34, 2:1
XY-HRS180-RH4SNF XY-P5747RM

Metric, 1:1
XY-HRS200-RH2SNF or

XY-P5748RM
XY-HRS200-RH4SNF Me{:’icygﬂ

( 1-800-255-4773 e www.nskprecision.com ) NSK‘ 10

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



Rohot Module” — MR Series
RS Module - Left Motor Mount

7529 -NSK Robot Module.FIN

5/11/09

3:44

PM Page 13

—p—

XY-HRS 010-RS 1 LA

'_I

Stroke Ex.
010: 100mm

Type

I

Motor Interface
A: Metric

B: NEMA 23

Motor Mounting

L: Left

Ball Screw Lead 1: 10mm

Note: Reference number includes motor mounting kit.

\

is 10,000 km when that moment acts continuously on the linear guide.

Reference Nominal Stroke Limit | Ballscrew L SA SB | Speed Max | Inertia | Breakaway | Mass | Payload, kg' | Backlash,
Number Stroke, mm +/- 2mm Lead, Mm| mm | mm | mm mm/s kg-m*> | Torque, N-m | kg |Horiz | Vert mm
XY-HRS010-RS1L*F 100 110 360 60 130 972 1.58E-05 49 20 20
XY-HRS020-RS1L*F 200 210 460 160 180 972 1.74E-05 5.5 20 20
XY-HRS030-RS1L*F 300 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 .020
XY-HRS040-RS1L*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RS1L*F 500 510 760 460 330 725 2.22E-05 7.5 20 20
2-98H7 x 9 Deep
. 4-M6 x 8 Deep 2-M3 x 6 Deep
70 /_ 30’1‘3 EN'D% Deep 10__, 40 /; 10
15, 30 S0
E g j
g < 3 — .
= —
g n
i ] ¢
+ _
I ‘%_ = \
NOTE
1) MOTOR NOT SUPPLIED,
» 2> PULLEYS, TIMING BELT AND MOTOR
» ATTACHMENT HARDWARE SUPPLIED.
100 N STROKE (57>
| —
100 <SB)
50
/6-¢9H7 x 10 Deg¢p
Options d ‘ 1!3
Ref Page * P e ¢ é M
Limit Sensor Kit XY-L3544RM 41 — — — — T4
Module Mounting Plate| XY-P170S-2 40 0 ¢ P e b e & N 5
Square Nut XY-P170M3-1[ 42 - |__so !
A q . S0 100 SA 100 50
Linear Guide Moment Capacities? X'?'MS x 10 Deep
Rolling Moment [Nm] 32 LFNGTH
Pitching Moment ~ [Nm] 24 Note: Maximum input torque is 1.9 N-m
Yawing Moment  [Nm] 24 1) If your payload exceeds listed value call NSK.
2) The individual moment capacities are defined as the value at which the fatigue life

11/NSK (

)

Module mounting plates — page 40

Limit sensor kits — page 41 e

Square nut — page 42

)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 34

Robot Module™ - MR Series
RS Module - Right Motor Mount

XY-HRS 020-RS 1 RB

— [

Stroke Ex.
020: 200mm

Type

Note: Reference number includes motor mounting kit.

|

Motor Interface
A: Metric

B: NEMA 23

Motor Mounting
R: Right

Ball Screw Lead 1: 10mm

—p—

Reference Nominal Stroke Limit | Ballscrew L SA SB | Speed Max | Inertia Breakaway | Mass | Payload, kg' | Backlash,
Number Stroke, mm +/- 2mm Lead, mm| mm | mm | mm mm/s kg-m* | Torque, N-m| kg | Horiz| Vert mm
XY-HRS010-RS1R*F 100 110 360 60 130 972 1.58E-05 4.9 20 20
XY-HRS020-RS1R*F 200 210 460 160 180 972 1.74E-05 HI5) 20 20
XY-HRS030-RS1R*F 300 310 10 560 260 230 972 1.90E-05 0.07 6.2 20 20 .020
XY-HRS040-RS1R*F 400 410 660 360 280 972 2.06E-05 6.8 20 20
XY-HRS050-RS1R*F 500 510 760 460 330 725 2.22E-05 7.5 20 20
2-28H7 x 9 Dee
4-M6 x B8 Deep
2-M3 x 6 Deep / 70
4-MS x 9 DP
48 10_\40 40| S0 BOTH ENDS 30,15
Y i ™
f o o9 1 8 L
! — — B & —j& 3 = T
L
- e o 2
| | \&ﬂ < T
- - |
NOTE: 5 n — =L
L> MOTOR NOT SUPPLIED, [l
2> PULLEYS, TIMING BELT I
AND MOTOR ATTACHMENT 148.5 I
HARDWARE SUPPLIED. Y
217, 5 64
. (57> STROKE 100
— — T 1
(SB> 100
30
12-M5 x 10 Deep 6-98H7
/10 Deep
m‘ N /1 A Options
& @ P ¢ e D 4+ e é * Ref Page
Y T — — — Limit Sensor Kit | XY-L3544RM 4
o b ¢ b ¢ ¢ b RS 9 Module Mounting Plate| XY-P170S-2 40
~ | |
T - ‘ - Square Nut XY-P170M3-1 42
= e = 1 =0 Linear Guide Moment Capacities?
LENGTH Rolling Moment ~ [Nm] 32
Note: Maximum input torque is 1.9 N-m Pitching Moment  [Nm] 24
1) If your payload exceeds listed value call NSK. Yawing Moment  [Nm] 24
2) The individual moment capacities are defined as the value at which the fatigue life
\ is 10,000 km when that moment acts continuously on the linear guide. /
C Module mounting plates — page 40 e Limit sensor kits — page 41 e Square nut — page 42 ) NSK‘ 12

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 15 $

Robot Module”
Notes

13‘NSK C 1-800-255-4773 o www.nskprecision.com )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

Robhot Module™ — MR Series

5/11/09 3:44 PM Page 32

RM Module - Straight Motor Mount

XY-HRS 025 - RM 1 SNF

—p—

Motor Mounting Kit
+ XY-P****RM

[ l Motor Interface
Stroke Ex. Type N: Motor Adapter
025: 250mm - not Included
Motor .Mountmg 5586: NEMA 23 - 1/4" \ /
S: Straight 5587: NEMA 34 - 3/8"
5588: METRIC
Ball Screw Lead 1: 10mm 5717: NEMA 23 - 3/8"
2: 20mm 5718: NEMA 34 - 1/2"
Reference Nominal Stroke Limit | Ballscrew L SA SB | Speed Max | Inertia | Breakaway | Mass | Payload, kg' | Backlash,
Number Stroke, mm +/-2mm | Lead, mm | mm | mm | mm mm/s kg-m* | Torque, N-m | kg |Horiz | Vert mm
XY-HRS025-RM1SNF 10 778 3.50E-05 0.26 9.5 40 40
XY-HRS025-RM2SNF 250 260 20 586 70 R 1556 4.83E-05 0.39 9.0 40 20
XY-HRS035-RM1SNF 10 778 3.89E-05 0.26 10.5 40 40
XY-HRS035-RM2SNF 350 360 20 686 170 221 1556 5.22E-05 0.39 10.0 40 20
XY-HRS045-RM1SNF 10 778 4.28E-05 0.26 11.5 40 40
450 460 786 270 277
XY-HRS045-RM2SNF 20 1556 5.61E-05 0.39 11.0 40 20 .005
XY-HRS055-RM1SNF 10 778 4.67E-05 0.26 12.5 40 40
550 560 886 370 327
XY-HRS055-RM2SNF 20 1556 6.00E-05 0.39 12.0 40 20
XY-HRS075-RM1SNF 10 650 5.45E-05 0.26 15.5 40 40
7 7 1 7! 427
XY-HRS075-RM2SNF 50 60 20 086 570 1300 6.78E-05 0.39 15.0 40 20
XY-HRS095-RM1SNF 10 583 1.72E-04 0.26 17.5 40 40
XY-HRS095-RM2SNF 950 %0 20 1286 | 770 521 1167 1.79E-04 0.39 17.0 40 20
425,55 . 55_ 5.
NOTE: MOTOR [ B
e\ ] N - ]
l — fal Fa) — g — —
I
Lo __
[ ) =
; - B
2-98H7 x 11 Deep 4-M6 x 9 Deep
2-M3 x 6 Deep
4-M5 x B Deep
EQ SP ON
950 Deep 3 #98. 4 BCD TROKE 150 67 55— 4-M6 x 9
' 4-M5 x 12 Deep ’7 T T 11 Ii Deep
NS - ==
i f B
/’o st wmJ 0 ||
B ZA
- x eel — 115
‘kﬂ_. éEMSAF’ Dﬁ — L‘“"
#66. 68 BCD
Motor Mounting Kits
12-M6 x 9 Deep 200 SA 200 42 Ref Page
100 100 NEMA 23 - 1/4" shat XV-P5586RM | 17
. * LR i NEMA 23 - 3/8" shaft XY-P5717RM 17
NEMA 34 - 3/8" shaft XY-P5587RM 17
1o NEMA 34 - 1/2" shaft XVPs7IgRM [ 18
d - PN S @ . ! 60mm Frame Metric Motor Kit | XY-P5588RM 18
100
6-98H7 x 11 Deep / 200 SB ‘ 0ption5
Ref Page
Limit Sensor Kit XY-L3543RM 4
Module Mounting Plate| XY-P170M-1 40
Square Nut XY-P170M3-1 42

\_

Note: Maximum input torque is 3.8 N-m

1) If your payload exceeds listed value call NSK.

2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

Linear Guide Moment Capacities?

Rolling Moment [Nm]
Pitching Moment ~ [Nm]
Yawing Moment  [Nm]

70
120
120

)

( Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kits — page 41 ¢ Square nut — page 42 ) NSK‘ 14

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11

/09

3:44 PM Page 17

Robot Module™ — MR Series
RH Module - Straight Motor Mount

XY-HRS 030-RH 1 SNF =

I_I

Stroke Ex.
030: 300mm

Type

—p—

Motor Mounting Kit

XY-P****RM

i

Motor Interface
N: Motor Adapter
not Included

5586: NEMA 23 - 1/4"
5587: NEMA 34 - 3/8"

\_

J

Linear Guide Moment Capacities?

Rolling Moment
Pitching Moment
Yawing Moment

[Nm]
[Nm]
[Nm]

600
450
400

-

Note: Maximum input torque is 3.8 N-m

1) If your payload exceeds listed value call NSK.

2) The individual moment capacities are defined as the value at which the fatigue life

is 10,000 km when that moment acts continuously on the linear guide.

Ball Screw Lead 1: 10mm Motor Mounting 5588: METRIC
2: 20mm S: Straight 5717: NEMA 23 - 3/8"
5718: NEMA 34 - 1/2"
Reference Nominal Stroke Limit | Ballscrew L SA SB |[Speed Rating| Inertia | Breakaway | Mass | Payload, kg' | Backlash,
Number Stroke, mm +/- 2mm Lead, Mm| mm | mm | mm mm/s kg-m?* | Torque, N-m| kg | Horiz| Vert mm
XY-HRS030-RH1SNF 10 778 4.12E-05 0.7 18 200 40
300 310 612 100 190
XY-HRS030-RH2SNF 20 1556 7.12E-05 1.3 17 80 20
XY-HRS040-RH1SNF 10 778 4.51E-05 0.7 20 200 40
4 4 712 2l 24
XY-HRS040-RH2SNF 0 0 20 00 0 1556 7.51E-05 1.3 19 80 20
XY-HRS050-RH1SNF 10 778 4.90E-05 0.7 22 200 40
XY-HRS050-RH2SNF 500 510 20 812 300 290 1556 7.90E-05 1.3 21 80 20 .005
XY-HRS060-RH1SNF 10 778 5.29E-05 0.7 24 200 40
600 610 912 400 340
XY-HRS060-RH2SNF 20 1556 8.29E-05 1.3 23 80 20
XY-HRS080-RH1SNF 10 671 6.07E-05 0.7 28 200 40
1 1112 44
XY-HRS080-RH2SNF 800 810 20 600 0 1341 9.07E-05 1.3 27 80 20
XY-HRS100-RH1SNF 10 583 1.72E-04 0.7 33 200 40
1000 1010 1312 800 540
XY-HRS100-RH2SNF 20 1167 2.02E-04 1.3 32 80 20
10 65 65 10 4-N8x12 Deep
NOTE: MOTOR SUPPLIED
BY CUSTONER w o
\ ,,,,,,,,,, I D 22!
' e o
o T
| & ; 8
[T® Q\ [ o—7"
\ M3 x 6 Deep
2-88H7 x 11 Deep
4-M5 x 12 Deep
EQ SP ON #70 BCD
50 4-M5 8 Teep 150 STROKE (65
EQ SP ON N
\ 798 4 BCD I
- 2-48H7 x 11 Deep-
7 7 V2
e. ez
78 @®SO0DP 3 @ |
| N 1 [ S -
S g o) | I
1 —13 5
8 4-M4 x 6 Deep
(7 Ge6. 66 5D
Motor Mounting Kits
Ref Page 12-N8 x 12 Deep 200 sA 200 40—
NEMA 23 - 1/4" shaft XY-P55B6RM 17 B b siroke T 100 am s
100
NEMA 23 - 3/8" shaft XY-P5717RM 17 —  — =
NEMA 34 - 3/8" shat Xv-pssg7m | 17 A A
NEMA 34 - 1/2" shaft XY-P5718RM 18 000
60mm Frame Metric Motor Kit | XY-P5588RM 18 - - - - 8
[- -]
Options
el P <+ @ 4 & @ £33 ) ¢ —
ef Page o
Limit Sensor Kit | XY-L3542RM 4 6TPSHT x 11 Decp
Module Mounting Plate| XY-P170H-1 40
Square Nut XY-P170M3-1 42

)

15 ‘ NSK C Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kits — page 41 e Square nut — page 42 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 30

Rohot Module” — MR Series
RH Module - Extended Stroke

XY-HRS 120-RH 2S NF

—p—

Motor Mounting Kit

XY-P****RM

Stroke Ex. Type Motor Interface
120: 1200mm N: Motor Adapter 5743: NEMA 23, 1:1 PULLEY RATIO
not Included 5744: NEMA 23, 2:1 PULLEY REDUCTION
5745: NEMA 34, 1:1 PULLEY RATIO \ /
5746: NEMA 34, 2:1 PULLEY REDUCTION
Ball Screw Lead 2: 20mm 5747: METRIC, 1:1 PULLEY RATIO
4: 40mm 5748: METRIC, 2:1 PULLEY REDUCTION
Reference Nominal Stroke Limit | Ballscrew L SA SB |[Speed Rating| Inertia | Breakaway | Mass | Payload, kg' | Backlash,
Number Stroke, mm +/- 2mm Lead, Mm| mm | mm | mm mm/s kg-m? | Torque, N-m| kg | Horiz| Vert mm
XY-HRS120-RH2SNF 20 837 1.46E-04 13 41 200 | 40
XY-HRS120-RH4SNF 1200 1210 40 1548 | 11000 | 640 1673 1.76E-04 1.9 40 80 20
XY-HRS140-RH2SNF 20 617 1.70E-04 1.3 45 200 | 40
XY-HRS140-RH4SNF 1400 1410 40 1748 | 1200 | 740 1235 2.00E-04 1.9 44 80 20
XY-HRS160-RH2SNF 20 474 1.95E-04 1.3 50 200 | 40
XY-HRS160-RH4SNF 1600 1610 40 1948 | 1400 | 840 949 2.25E-04 19 49 80 20 005
XY-HRS180-RH2SNF 20 376 2.20E-04 1.3 54 200 | 40
XY-HRS180-RHASNF L B 40 2148 | 1600 | 940 751 2.50E-04 19 53 | 8 | 20
XY-HRS200-RH2SNF 2000 2010 20 238 | 1800 | 1040 305 2.44E-04 13 58 200 | 40
XY-HRS200-RH4SNF 40 610 2.74E-04 1.9 57 80 20
10 =10 90
48 —— 22
65"‘65 4-M8 X 12 Deep Lo
13
= T T T d %
- & § Jo[ @& T ]_ L @
NOTE: | e @
1) MOTOR ACAPTER KIT SHOWN 116 103 154 140 180
INSTALLEC FOR CLARITY. ~ o e
2) MOTOR ADAPTER KIT SOLD ik J_
SEPARATELY. ] D N = T LI
T ) ’ 13 /
I 2-M3 x 6 Deep 2-M8 x 12 Deep / i
: 130
2-@8H7 x 11 Deep 2-@8H7 x 11 Deep 120 Lo l
—| 7 =
NOTE: —= 46 =~
1) MOTOR DEPICTED FOR CLARITY.
2) MOTOR SUPPLIED BY CUSTOMER
L
. . | |
Motor Mounting Kits '—— 150 | Stroke |( 65 )=
Ref Page |
NEMA 23, 1:1 Pulley Ratio | XY-P5743RM 18 .
NEMA 23, 2:1 Pulley Reduct| XY-P5744RM 18
NEMA 34, 1:1 Pulley Ratio | XY-P5745RM 18
NEMA 34, 2:1 Pulley Reduct| XY-P5746RM 18
Metric, 1:1 Pulley Ratio | XY-P5747RM 18 —
Metric, 2:1 Pulley Reduct | XY-P5748RM 18 200 SA 200 (40)
200 SB
|~100— |~loo» |‘1oo» [14
Options 4 © -3 E3 k3 @ Y k3 &=
Ref Page 310
Limit Sensor Kit XY-L3542RM 4 [CR-X]
Module Mounting Plate| XY-P170H-1 40 oco 152
Square Nut XY-P170M3-1 42
K ® 3 o » 4 ¢ & » +

Linear Guide Moment Capacities®

Rolling Moment
Pitching Moment
Yawing Moment

[Nm] 600
[Nm] 450
[Nm] 400

.

12-M8 x 12 Deep

1) If your payload exceeds listed value call NSK.
2) The individual moment capacities are defined as the value at which the fatigue life
is 10,000 km when that moment acts continuously on the linear guide.

6-@8H7 x 11 Deep—/

J

( Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kits — page 41 ¢ Square nut — page 42 ) NSK‘ 16

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 19

17/NSK

Robot Module™ — MR Series
Motor Mounting Kits

Motor Mounting Kits provide the hardware necessary to
connect NEMA 23, NEMA 34 or 60mm Frame Metric motors
to the base module. These kits allow the user the flexibility to
attach motors of their choice to the base module.

See opposite page for definition of the various motor interfaces.

There are two kits for the RS module, five kits for RH/RM <
1000mm and six kits
for the RH extended module > 1200mm.

The motor mounting kit for the RS module comes installed
and ready to accept the user's motor.

/Shaft Coupling \
333 j» 8 @10 Ball screw

?6.35 [NEMA 23)
$9.53 (NEMA 23)
©9.53 (NEMA 34) Length

@12.7 [NEMA 34)
@14 (Metric) /

/ NEMA 34 Motor Adapter Plate RH/RM < 1000mm\

ﬂ

77

4X 853 THRU J—
EQG SP ON @40 THRU
#98.425 BC

0 +0.1
K C’BORE 8731157 /

/NEMA 23 Motor Adapter Ring RH/RM < 1000mm\

00
249.9_07

+0.1
#3827 01

N

0.0
K 3389 /

—p—

N )

RS Module

PN XY-P5584RM, 60mm Frame Metric Motor Kit
e 60mm Frame Metric Motor Plate
e 60mm Frame Metric Motor Mounting Nut Plate
e Motor Shaft Pulley, g14mm ID
® Timing Belt
e Qty 4, M5 x 14 Socket Head Cap Screw

PN XY-P5585RM, NEMA 23 Motor Mounting Kit
e NEMA 23 Motor Plate
e NEMA 23 Motor Mounting Nut Plate
e Motor Shaft Pulley, 1/4" ID, @3/8" ID
* Timing Belt
e Qty 4, M4 x 14 Socket Head Cap Screw

RH/RM Modules - Stroke < 1000mm

PN XY-P5586RM, NEMA 23 ¢1/4" Motor Mounting Kit
e NEMA 23 Motor Adapter Ring
e Jaw Type Shaft Coupling, 210mm x @1/4" x 47.6mm long
e Disk Type Shaft Coupling, 210mm x @1/4" x 44.5mm long
e Qty 4, M4 x 8 Socket Head Cap Screw

PN XY-P5717RM, NEMA 23 ¢3/8" Motor Mounting Kit
e NEMA 23 Motor Adapter Ring
e Jaw Type Shaft Coupling, 210mm x @3/8" x 47.6mm long
e Disk Type Shaft Coupling, 210mm x @3/8" x 44.5mm long
e Qty 4, M4 x 8 Socket Head Cap Screw

PN XY-P5587RM, NEMA 34 ¢3/8" Motor Mounting Kit
e NEMA 34 Motor Adapter Plate
e Jaw Type Shaft Coupling, 210mm x @3/8" x 47.6mm long
e Disk Type Shaft Coupling, 210mm x @3/8" x 44.5mm long
e Qty 4, M5 x 16 Socket Head Cap Screw

RS module — pages 11 &12 ¢ RM & RH module - pages 14 to 16 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



Robot Module™ — MR Series
Motor Mounting Kits, continued

PN XY-P5718RM, NEMA 34 01/2" Motor Mounting Kit
e NEMA 34 Motor Adapter Plate
e Jaw Type Shaft Coupling, 210mm x @1/2" x 47.6mm long
e Disk Type Shaft Coupling, 210mm x @1/2" x 44.5mm long
e Qty 4, M5 x 16 Socket Head Cap Screw

PN XY-P5588RM, 60mm Frame Metric Motor Kit
e Jaw Type Shaft Coupling, 210mm x g14mm x 47.6mm long
e Disk Type Shaft Coupling, 210mm x g14mm x 44.5mm long
e Qty 4, M5 x 16 Socket Head Cap Screw

RH Module Strokes > 1200mm
PN XY-P5743RM, NEMA 23, 1:1 Pulley Ratio, Motor Mounting Kit

e NEMA 23 Motor Mounting Plate

e NEMA 23 Motor Mounting Nut Plate
e Belt Cover

e Qty 4, M3 Hex Standoff

e Motor Pulley, 1/4" ID, 31.83 PD

e Motor Pulley, 3/8" ID, 31.83 PD

¢ Ballscrew Pulley, 10mm ID, 31.83 PD
e Timing Belt

e Assorted Fasteners

PN XY-P5745RM NEMA 34, 1:1 Pulley Ratio, Motor Mountng Kit
e NEMA 34 Motor Mounting Plate
e NEMA 34 Motor Mounting Nut Plate
e Belt Cover
e Qty 4, M3 Hex Standoff
e Motor Pulley, 3/8" ID, 31.83 PD
e Motor Pulley, 1/2" ID, 31.83 PD
e Ballscrew Pulley, 10mm ID, 31.83 PD
e Timing Belt

e Assorted Fasteners

PN XY-P5747RM, Metric 60mm, 1:1 Pulley Ratio,
Motor Mounting Kit

e Metric Motor Mounting Plate

¢ Nut Plate, Metric Motor

e Belt Cover

e Qty 4, M3 Hex Standoff

e Motor Pulley, 14mm ID, 31.83 PD

e Ballscrew Pulley, 10mm ID, 31.83 PD
e Timing Belt

e Assorted Fasteners

7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 28 $

Shaft Couplings Features:

Jaw Type - three piece coupling consisting of two hubs and a
spider. The spider is made from polyurethane thereby providing
damping and protection against impulse loads. The spider is
pressed into the hubs providing zero backlash operation.

Disk Type - five piece coupling consisting of two hubs, a
center member and thin metallic disks that transmit torque.
Disk type couplings provide higher torsional rigidity with lower
inertia then other coupling types.

PN XY-P5744RM, NEMA 23, 2:1 Pulley Reduction,
Motor Mounting Kit

e NEMA 23 Motor Mounting Plate

e NEMA 23 Motor Mounting Nut Plate
e Belt Cover

e Qty 4, M3 Hex Standoff

e Motor Pulley, 1/4" ID, 31.83 PD

e Motor Pulley, 3/8" ID, 31.83 PD

e Ballscrew Pulley, 10mm ID, 63.66 PD
e Timing Belt

e Assorted Fasteners

PN XY-P5746RM, NEMA 34, 2:1 Pulley Reduction,
Motor Mounting Kit

e NEMA 34 Motor Mounting Plate

e NEMA 34 Motor Mounting Nut Plate
e Belt Cover

e Qty 4, M3 Hex Standoff

e Motor Pulley, 3/8" ID, 31.83 PD

e Motor Pulley, 1/2" ID, 31.83 PD

e Ballscrew Pulley, 10mm ID, 63.66 PD
e Timing Belt

® Assorted Fasteners

PN XY-P5748RM, Metric 60mm, 2:1 Pulley Reduction,
Motor Mounting Kit

e Metric Motor Mounting Plate

e Metric Motor Mounting Nut Plate

e Belt Cover

e Qty 4, M3 Hex Standoff

e Motor Pulley, 14mm ID, 31.83 PD

e Ballscrew Pulley, 10mm ID, 63.66 PD
e Timing Belt

® Assorted Fasteners

( RS module — pages 11 & 12 ¢ RM & RH module — pages 14 to 16 ) NSK‘ 18

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 21

Robhot Module” — MR Series
Motor Interface Dimensions

—p—

-

\[ (3 Motor
s N
® ® .
. [
& ® =
"F" DIA., 4 HOLES — =— D
EQUALLY SRCED
ON AN "E DIA. BDC. ~ B/
It DI . Motor Interface
em imension Metric 60mm NEMA 23 NEMA 34
A Motor Shaft Diameter 14 6.350r 9.53 9.53 0r 12.7
B Motor Shaft Length 30 20.57 31.75
C Pilot Diameter 50 38.1 73.03
D Pilot Length 3 2.36 2.36
E Mounting Bolt Circle Diameter 70 66.68 98.43
[F Bolt Hole Size 5.5 4.95 5.54
19 ‘ NSK C RS module — pages 11 & 12 ¢ RM & RH module — pages 14 to 16 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 26 $

Robot Module”
Notes

C 1-800-255-4773 e www.nskprecision.com )NSK‘ZO

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



Robot Module™ — MR Series

7529 -NSK Robot Module.FIN

5/11/09 3:44 PM Page 23

2 Axis Combinations

/

2-Axis Selection

RD-HM Type

Page 26

RC-MS Type

Pages 23 & 24

Combination Type X Axis Y Axis Combining Bracket | Module Mounting Plate Limit Sensor Kit Square Nut
P p— X Axis: XY-L3543RM
RG-MS TypeAorB | XVHRSO'S-RMISNE | vy ypgoe0-RS1RF XY-P175GMS-1 XY-P170M-1 ,
&XY-P **** RM Y Axis: XY-L3544RM
HGHM Type AorC | yy HRS0**0-RH*SNF | XY-HRSO*5-RM*SNF XY-P175GHM-1 170 A X Axis: XY-L3542RM
2 XY-P **** RM _Pxk xR 4 = )
TypeBorD | S QWAL XY-P175GHN-2 Y Axis: XY-L3543RM
2R XY-HRS0*5-RM*sNF | XYHRSO'0-RS1L'F X Axis: XY-L3543RM
RD-MS & XY-P ~"v+ RM XY-P175DMS-1 XY-P170M-1 )
Type B XY-HRS0*0-RS1R*F Y Axis: XY-L3544RM
RD-HM TypeAorg | X HRSOTO-RHSNF | - XY-HRSO'S-RMSNF XY-P175DHM-1 XY-P170H-1 X Ais: XYL354ZRM XY-P170M3-1
- e A or * ok ok ok - - - - - -
i & XY-P === RM &XY-P™***RM Y Axis: XY-L3543RM
e N X Axis: XY-L3542RM
XY-HRSO**0-RH*SNF | XY-HRS0*5-RM*SNF
RX-HM Type A or B XY-P175XHM-1 XY-P170H-1
Yo &XY-P****RM & XY-P****RM Y Axis: XY-L3543RM
XY-HRS0**0-RH*SNF -HRSO**0-RH*
RX-HH Type A or B & XSY(—)P*(*)“RMS XY&H;i g*gﬁHR;NF XY-P175XHH-1 XY-P170H-1 XY-L3542RM
B Type A XY-HRSO0*5-RM*SNF XY-HRS0*0-RS1L*F XY-P175CMS-1 X Axis: XY-L3543RM
= e NA )
Type B &XY-P RM XY-HRS0*0-RS1R*F & XY-P175XHM-1 Y Axis: XY-L3544RM

21 ‘ NSK (Modules - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

Robot Module™ — MR Series

5/11/09

3:44 PM Page 24

Combination Type: RG-MS

/ Type A

/ Type B

Y Axis Stroke + 303 —————=
=116~ 80 LS 07—
o)
200
262
X Axis
Stroke
Motion +
Range 336 % X Axis
X Axis Stroke
S Stroke T
. 336
Motion
Range
X Axis
Stroke
136
: |
LU LU | 74
1
Y Axis L ]
~—116 80— Stroke 107
Y Axis Stroke + 303 ————
1m T
¢ 1
—— ¢
| | 66 278 f ET——Y
* | | [ 66 278
. t 102 & ] ?
°! ! i U E 102
| 55 [ f T ‘
X Axis Combination Type and Reference Numbers
/ Combination Type Type A or B Ref Page
X Axis XY-HRS0*5-RM*SNF 14
X Axis Motor Mounting Kit XY-P****RM 17 & 18
combr Y Axis XY-HRS0*0-RS1R*F 12
Gomoning XY Combining Bracket XY-P175GMS-1 38
Options:
/s Motor- Limit Sensor Kit, X Axis XY-L3543RM 41
() éﬁus'f?e”&?' Limit Sensor Kit, Y Axis XY-L3544RM 4
I
’E 0 PP X Axis Module Mounting Plate XY-P170M-1 40
\ Square Nut XY-P170M3-1 42
Y Ads Transportable Mass Table [kg]
L Acceleration Y Axis Stroke, mm
m/s? 100 200 300 400 500
49 20 15 11 8 6
X Axis Motor
(Customer 9.8 18 12 9 6.5 b)
Supplied)

Note: Assembly of system required

(Modules —pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 22

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 25

Rohot Module™ — MR Series
Combination Type: RG-HM

/ Type A

Y Axis Stroke + 402 Y Axis Stroke + 402
Y Axis Y Axis
~— 180 —= 85 —fstroke——*lﬂ* — 137 =—stroke — =] 85 [~ 180 —=
215 215
X Axis
. Stroke
X Axis <lm Mofi
) Stroke +312 otion
Motion + Range
Range st 312 X Axis
Xis AXi
° ) Stroke é("oilse Stroke f °
>1m = =
S +354
| ‘ i : %
F i i i T I - .
1 I I | ' i
97 .

4.
K
<
o

e O e — ]

N
N
w

N

N

[

f——

k|
o
bl

o
o~
[¢]

N
~N

f-—0O
IS
[N

/X Axis

Combining
Bracket

Y Axis
O/ ﬁ

51

l

N—Y Axis Motor

1 (Customer
58 Supplied)
H\\ \X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

23 ‘ NSK CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 ¢ Limit sensor kit — page 41 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 22 $

/ Type C \ / Type D \

: ----- [} ]l 0 1 *r 1T 0 —_———e s . __.
= o )
o
% [ X AXis X Axis =|
Eu'_' : Stroke Stroke 1 1
>1m >1m
+ 354
X Axis
Motion . X Axis Stroke Motion
X Axis Stroke X Axis 1O
Range Stroke <Im fa]{‘g Siroke Range
65 45
~— 180 —= 85 =— Y Axis Stroke —=t= 137 —=— * (= 137 ——=— Y Axis Stroke —= 85 ~=——180 —=
Y Axis Sfroke + 402 —————— [=~—— Y Axis Stroke + 402
[ — : f f : — 1
[3 16 116 ©
, * s A * ; I
g 1(:7 107 .

- AN /

Combination Type and Reference Numbers

Combination Type Type Aor C Type B or D Ref Page
X Axis XY-HRS0**0-RH*SNF 15& 16
X Axis Motor Mounting Kit XY-P****RM 17 & 18
Y Axis XY-HRS0* 5-RM* SNF 14
Y Axis Motor Mounting Kit XY-P****RM 17 & 18
XY Combining Bracket XY-P175GHM-1 XY-P175GHM-2 38
Options:
Limit Sensor Kit, X Axis XY-L3542RM 4
Limit Sensor Kit, Y Axis XY-L3543RM 41
X Axis Module Mounting Plate XY-P170H-1 40
Square Nut XY-P170M3-1 42

Transportable Mass Table [kg]

Acceleration Y Axis Stroke, mm
m/s? 250 350 450 550 750 950
49 40 40 40 40 33 24
9.8 40 40 33 28 19 13

(Modules - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 24

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



Robot Module™ — MR Series

7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 27

Combination Type: RD-MS

—p—

/ Type A

.

X AXis Stroke + 336 ———————
X Axis
183 Stroke ==
153
] l Y AXis
q J: Stroke
. +
A Y AXis
- 1 Stroke zal
1
\—Moﬂon f

Range e

Y Axis Motor- Y AXis
Infemal
Customer
upplied) Combining
. Bracket X Axis
éCusT‘pn(ﬁj')sr
upplie: [ < ’U / / 1
170

5
i)

Note: Assembly of system required

/ Type B

X Axis

X Axis Stroke + 336

Stroke

153 —*

%

108

f

.Y
Y Axis

Axi
Strok

Stroke +

Motion
Range

261

\

)

Combination Type and Reference Numbers

Combination Type Type A Type B Ref Page
X Axis XY-HRS0* 5-RM* SNF 14
X Axis Motor Mounting Kit XY-P****RM 17 & 18
Y Axis XY-HRS0*0-RS1L*F | XY-HRS0*0-RS1R*F 11&12
XY Combining Bracket XY-P175DMS-1 38
Options:
Limit Sensor Kit, X Axis XY-L3543RM 4
Limit Sensor Kit, Y Axis XY-L3544RM 4
X Axis Module Mounting Plate XY-P170M-1 40
Square Nut XY-P170M3-1 42
Transportable Mass Table [kg]
Acceleration Y Axis Stroke, mm
m/s? 100 200 300 400 500
49 20 20 20 20 20
9.8 20 20 20 20 20

25 ‘ NSK CModuIeS - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 20

Robot Module” — MR Series
Combination Type: RD-HM

/ Type A \ / Type B

Y Axis Stroke + 336 ———— Y Axis Stroke + 336
[=— 137 ——=— Y Axis Stroke —{=—— 199 — —199 pEa 137 =
140 140
Motion
Range ) .
Motion X Axis
Range Stroke
N\ >1m
i . +354
XiAXiS )i AEIS X Axis
S r<+>ke Stroke Stroke X Axis
312 Stroke
c e & 0 (- <im
I TS T — = ] +312
3 j— G
f - a J -3 Lo} ST 1
T

T
f
T

EE
- AN J

Combination Type and Reference Numbers

X Axis\—' Combination Type Type A or B Ref Page
X Axis XY-HRS** 0-RH* SNF 15& 16
X Axis Motor Mounting Kit XY-P****RM 17&18
Y Axits Motor Y Axis XY-HRS0*5-RM* SNF 14
(Sormer Y Axis Motor Mounting Kit XY-P***RM 17818
XY Combining Bracket XY-P175DHM-1 38
51 r-— Options:
— Limit Sensor Kit, X Axis XY-L3542RM 4
58 Limit Sensor Kit, Y Axis XY-L3543RM 4
X Axis Module Mounting Plate XY-P170H-1 40
] Square Nut XY-P170M3-1 42
Y Axis |4
Transportable Mass Table [kg]
Combining Acceleration Y axis stroke, mm
Bracket m/s? 250 350 450 550 750 | 950
X Axis Motor/ 49 40 40 40 40 40 40
Cust
s 98 40 40 40 40 40 40

Note: Assembly of system required

CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18¢ Module mounting plates — page 40 e Limit sensor kit — page 41 ) NSK‘ 26

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 29

Rohot Module” — MR Series
Combination Type: RX-HM

/ Type A

Y Axis Motor
(Customer

Supp'ed)\

Y Axis Stroke x 2 + 336

Y Axis Stroke + 289 47 =— Y Axis Stroke —— &
102
Y Axis X Axis
. Stroke
g/‘oog'og X Axis > 1m
= Stroke +354
X Axis
Stroke
<Ilm
+312
o of
— 180 —
° of =] *
° 116
L }
S 107
P46 i

87

27 ‘ NSK CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41 )

/X AXxis

ﬂ 58
03+

m\ \x Axis Motor

Combining
Bracket

(Customer
Supplied)

Note: Assembly of system required

= Y Axis Stroke —=

Y Axis Stroke x 2 + 336

47 =—— Y AXis Stroke + 289

1 i 1
13211 S)irél):é ARAciorrgem
X Axis
Stroke
<Ilm
+312
—" o
116 ° 0
223 —— —)
‘ o |
R L = R S
L )
Combination Type and Reference Numbers
Combination Type Type A or B Ref Page
X Axis XY-HRS**0-RH* SNF 15&16
X Axis Motor Mounting Kit XY-P****RM 17 &18
Y Axis XY-HRSO*5-RM* SNF 14
Y Axis Motor Mounting Kit XY-P****RM 17 & 18
XY Combining Bracket XY-P175XHM-1 39
Options:
Limit Sensor Kit, X Axis XY-L3542RM 41
Limit Sensor Kit, Y Axis XY-L3543RM 4
X Axis Module Mounting Plate XY-P170H-1 40
Square Nut XY-P170M3-1 42
Transportable Mass Table [kg]
Acceleration Y Axis Stroke, mm
m/s? 250 350 450 550 750 950
33 24 19 15 12 7 3
49 21 16 12 9 5 2

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 18 $

Robhot Module™ — MR Series
Combination Type: RX-HH

/ Type A \ / Type B

Y IxisStoke x 2f B2 ———————— .
Y Axis Sfroke x 2 + 312
¥ SR @ O = ERlSEe S =— Y Axis Stroke —=50 Y Axis Stroke + 262 —————=|
028 128
Y Axi X Axis X Axis
Y AxisMotor Stroke STv]oke
(Custmer Mot ion X axis>]Im >1m Motion
Suppled) Range stoke T4 +854 Ak Range
Stroke
X Axis X Axis
Stroke Stroke
I <lm <im |
| +312 312 +— | |
I |
....... Boo (D v
[1 [ [ I
1 | LS —

180
o

L ) 110 110 y
: 4

87

Combination Type and Reference Numbers
Combination Type Type A or B Ref Page
T X Axis X Axis XY-HRS** 0-RH *SNF 15 & 16
/ X Axis Motor Mounting Kit XY-P ****RM 17 & 18
Y Axis XY-HRS** 0-RH *SNF 15816
Y Axis Motor Mounting Kit XY-P****RM 17 &18
XY Combining Bracket XY-P175XHH-1 39
Options:
87 = * Limit Sensor Kit, X Axis XY-L3542RM 41
26 Limit Sensor Kit, Y Axis XY-L3542RM 4
i * X Axis Module Mounting Plate XY-P170H-1 40
g Square Nut XY-P170M3-1 42
— Combining Transportable Mass Table [kg]
Bracket Acceleration Y Axis Stroke, mm
— \ m/s? 300 400 500 600 800 100
X Axis Mot
éCUS'me‘;S’ 33 40 40 40 40 29 20
upplied) 49 40 40 40 39 28 19

Note: Assembly of system required

(Modules - pages 11 to 16 ¢ Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 28

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 31 $

Robot Module™ — MR Series
Combination Type: RC-MS

/ Type A \ / Type B

( 15 a5
|
=S j—L
60 60 %
130 b d 7 189 189 I ! | !
— 1,
48 / ::
N P —— Las
4X P9 169 —== 116 = 5 G5
X
X Axis ‘
153 t
XA 4 Combining
(CUXS}SQA,AWOS,O ' Bracket 153
Supplied) ZAXs
Motion 7 Axis szke 7 Axis
Range Stroke 267 Stroke L
+ Z Axis Motion
® ® 267 Stroke Range
Q ®
° °
1 f
s s 14 ° o
& 114
& T
41» AL 4L * ’l
[=———— X Axis Stroke + 133 132 161 X Axis Stroke —=1 L sz neiey @emera— Ga 1am=l 7 e G G=meec

X AXis Stroke x 2 + 426

[« X Axis Strokz « 42

- AN /

Combination Type and Reference Numbers

Combination Type Type A Type B Ref Page
7 Axis X Axis XY-HRS0*5-RM* SNF 14
X Axis Motor Mounting Kit XY-P****RM 17 &18
7 Axis Motor- Z Axis XY-HRS0*0-RS1L*F | XY-HRSO0*0-RS1R*F 11&12
Internal XY Combining Bracket XY-P175XHM-1, XY-P175CMS-1 39
(Customer .
Supplied) Options:
Limit Sensor Kit, X Axis XY-L3543RM 4
ol |° Limit Sensor Kit, Z Axis XY-L3544RM M
X Axis Module Mounting Plate NA 40
o |o Square Nut XY-P170M3-1 42
{ Transportable Mass Table [kg]
5 58 Z Axis Acceleration X Axis Stroke, mm
E i 3 :] Stroke m/s? 250 350 450 550
<
B 100mm 39 8 8 8 5.4
51 = 49 8 8 54 2.4
E 39 8 8 7 47
49 8 8 47 1.7

Note: Assembly of system required

29 ‘ NSK CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09

3:44 PM Page 16

Robhot Module™ — MR Series

3 Axis Gombinations

—p—

RP-HMS Type

Pages 31 & 32

RP-MSS Type
Page 33
3-Axis Selection

Combination Type X Axis Y Axis Z Axis XY Combining Bracket | YZ Combining Bracket | Mounting Plate | Limit Sensor Kit | Square Nut

WA | v isooRiroNF | XvaRsosAwsE | N ToU ORSILE R A

RJ-HMS & Y P**-**RM é(xv bt o A XY-P175XHM-1 XY-P175CMS-1 XY-P170H-1 Y Axis: XY-L3543RM

Type B AL i i 2 Axis: XY-L3544RM

TeAUC | e | wymsosmp | MRSTORSILE XY-P175GHM-1 X Ais: Xi-L3542RM
RP-HMS & - P“'“RM & » P“'“RM XY-P175DMS-1 XY-P170H-1 Y Axis: XY-L3543RM | XY-P170M3-1

TypeBor D XY-HRSO*0-RSTR*F XY-P175GHM-2 7 Axis: XY-L3544RM

X Axis: XY-L3543RM

RP-MSS TypeAorB XY&H)F(‘?(; > TBAR;NF XY-HRSO*0-RSTR'F XY-HRSO*0-RSTL*F XY-P175GMS-1 XY-P175DSS-1 XY-P170M-1 Y Axis: XY-L3544RM

Z Axis: XY-L3544RM

(Modules —pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 30

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 33

—p—

Rohot Module™ — MR Series
Combination Type: RP-HMS

/ Type A \

Y Axis Stroke + 402
=— 180 —={ 69 =—Y AXis Stroke —==— 153 —=

/ Type B

Y Axis Stroke + 402

[=— 153 —=—=—Y Axis Stroke —=

69 = 180 —=

w
s}

X Axis 300
Stroke

+354

Motion X AXIs

] Range Stroke
<Ilm
+312

Stroke
; : X Axis
Stroke

Motion

Range [

X Axis
Stroke
>1m

+354

X Axis
Stroke
<im
+312

Motion
Range
1 T

: Z AXis
Z Axis
Tif I Stroke Siclt® 7 Axis
| | 0 - 325 STrgke 7 Axis
R 1 325 Stroke
Ok ' ] 1 172 T
Y 65 l 172

e *

/x Axis

XY Combining
Bracket

Y Axis Motor
(Customer
58 = Supplied)

YZ Combining
Bracket

iR
%

Z Axis Motor-
Internal
(Customer
Supplied)
1 Axis

X Axis Motor

(Customer

Supplied)

Note: Assembly of system required

31 ‘ NSK (Modules — pages 11 to 16 e Motor mounting kits — page 17 & 18 ¢ Module mounting plates — page 40 e Limit sensor kit — page 41 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

3:44 PM Page 14

/ Type C

X AXis %

Stroke
<1m
+312

X Axis
Stroke
>1m

+354

I

- 180 —=

332

Motion
Range

X Axis
Stroke

69 |=— ¥ Axis Stroke —=f=— 153 —=|

Y Axis Stroke + 402

Motion
Range

i

XIS
| | o Stroke rg €
| |I° - 325
: T
......... B ] 172
65
}

—p—

/ Type D

\_

Motion
Range
[ °
o o
X Axis =
X Axis  Stroke B
Stroke |
<lm
+312 m m
X Axis ==
Stroke
>1m
+354
300
[=— 153 —=r=—Y Axis Stroke—=| 649 [=— 180 —=
Y Axis Stroke + 402
T Motion i
153 Ronge\
7 Axis l i
Stroke 7 Axis
+
225 Stroke I
T ° O
172 1 1 e Y
l 7

Combination Type and Reference Numbers

Combination Type Type Aor C Type B or D Ref Page
X Axis XY-HRS**0-RH*SNF 15&16
X Axis Motor Mounting Kit XY-P****RM 17 &18
Y Axis XY-HRS0*5-RM*SNF 14
Y Axis Motor Mounting Kit XY-P****RM 17 & 18
Z Axis XY-HRS0*0-RS1L*F XY-HRS0*0-RS1R*F 11&12
XY Combining Bracket XY-P175GHM-1 XY-P175GHM-2 38
YZ Combining Bracket XY-P175DMS-1 38
Options:
Limit Sensor Kit, X Axis XY-L3542RM 4
Limit Sensor Kit, Y Axis XY-L3543RM 41
Limit Sensor Kit, Z Axis XY-L3544RM 4
X Axis Module Mounting Plate XY-P170H-1 40
Square Nut XY-P170M3-1 42
Transportable Mass Table [kg]
Z Axis Acceleration Y Axis Stroke, mm
Stroke m/s? 250 350 450 550 750 950
100 0r 200 49 20 20 20 20 20 16
9.8 20 20 20 20 12.6 6.6

(Modules - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 32

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

Robot Module™ — MR Series

5/11/09 3:44 PM Page 35

Combination Type: RP-MSS

/ Type A

Y Axis Stroke + 303

—p—

/ Type B

o
344
X Axis
Stroke
+
335
Motion X Axis
Range Stroke

~ 116" 80 LY Axis Strirk?l 107 =~

Y Axis Stroke +—363—™

=116—= 80 =——Y AxisStroke —= 107 =~
282
X Axis
Stroke
+
Motion 335
Range
X Axis
Stroke
] 54
@ 153
= l .
Motion . Z AXis
HeL - Range ZAXis  Stroke
o Stroke +
= 295
— |
i ﬁ ! 142
51 % L
\_ = L
H /X Axis
XY Combining
Bracket
Y Axis
Y Axis Motor-
Internal
(Customer
Supplied)
- 1 Axis Motor-
Internal
(Customer
Supplied)
YZ Combining

Bracket

X Axis Motor
(Customer
Supplied)

Note: Assembly of system required

153
-u Z Axi
H_J Motion Z Axis Strok
; I EEREE Stroke +
| i i r 295
L o
1 F * 142
I L
Combination Type and Reference Numbers
Combination Type Type A and B Ref Page
X Axis XY-HRS0*5-RM*SNF 14
X Axis Motor Mounting Kit XY-P****RM 17 &18
Y Axis XY-HRS0*0-RS1R*F 12
Z Axis XY-HRS0*0-RS1L*F 1
XY Combining Bracket XY-P175GMS-1 38
YZ Combining Bracket XY-P175DSS-1 37
Options:
Limit Sensor Kit, X Axis XY-L3543RM 41
Limit Sensor Kit, Y Axis XY-L3544RM 41
Limit Sensor Kit, Z Axis XY-L3544RM 4
X Axis Module Mounting Plate XY-P170M-1 40
Square Nut XY-P170M3-1 42

Transportable Mass Table [kg]

Z Axis Acceleration Y Axis Stroke, mm

Stroke m/s? 100 200 300 400

- 49 8 8 48 1.8
9.8 8 5.8 2.8 -

200mm 49 8 8 41 1.1
9.8 8 5.1 2.1 -

33 ‘ NSK CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41)

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

Robot Module” — MR Series

5/11/09

3:44 PM Page 12

Combination Type: RJ-HMS

/ Type A

Y Axis Stroke x 2 + 426
e YAXsStroke x 2+ 426 ———————————————————=
e Axis Stroke + 289 ——=la— 137 —=b=— Y Axis Stroke —— =— Y AXxis Stroke —=1=— 137 —= Y Axis Stroke + 289 —————=|
!
110 90
X Axi: X Axis . .
Motion gﬁé"; Sgtlr“?ke Sgtfl:ke S);’g:: ,’g‘;’lgg
Range B +312
X Axi: 2 LSS
Stroke Stroke [
>1m >1m i
I = +354 +354 = 1
= i
180 —= 180 —=
]:’LS ]JL
doln | zam St e ame | welm
° i 57 357 ° @ il
— ~ | : o
_________ 2 204 204 M]]* .
C ] | e
T = e -
Combination Type and Reference Numbers
Combination Type Type A Type B Ref Page
X Axi
11 / e X Axis XY-HRS™0-RH*SNF 15816
Y AXis Motor X Axis Motor Mounting Kit XY-P****RM 17 &18
(Customer Supplied) Y Axis XY-HRS0*5-RM*SNF 14
Y Axis Y Axis Motor Mounting Kit XY-P****RM 17 &18
Z Axis XY-HRS0*0-RS1L*F XY-HRS0*0-RS1R*F 11&12
YZ Combining XY Combining Bracket XY-P175XHM-1 39
Ll 58 Brackef YZ Combining Bracket XY-P175CMS-1 39
7 Axis Options:
51 I /= Limit Sensor Kit, X Axis XY-L3542RM 4
: Z j' Limit Sensor Kit, Y Axis XY-L3543RM 41
(\ )| Limit Sensor Kit, Z Axis XY-L3544RM 4
/ X Axis Module Mounting Plate XY-P170H-1 40
Square Nut XY-P170M3-1 42
11 Z Axis Motor- Internal
(Customer Supplied) Transportable Mass Table [kg]
N XY Combining Z Axis Acceleration Y Axis Stroke, mm
| oo Stroke m/s? 250 350 450 550
X Axis Motor fed)
Cust Suppl
(Customer Supplie 100mm 3.3 8 8 8 5.4
49 8 8 5.4 24
200mm 33 8 8 7.7 47
49 8 8 47 1.7

Note: Assembly of system required

CModuIes - pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41) NSK ‘ 34

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09

3:44 PM Page 37

Robot Module™ — MR Series
Accessories

Support Slide
For Combination Types:
RG-HM and RP-HMS

—p—

Motor Supplied
By Customer

5| (X Axis Stroke 400 or Less)

//11.0] (X Axis Stroke 500 or More)

Y Axis Stroke + 475

-

180 85 =—Y Axis Stroke —=t=— 144 —= 66 =— *
' |
67.5
215.5
o (' [P X Axis
Stroke
L= - > ]m
X Axis + 354
Motion Sfrgke
q Range 200
X AXIs
2 2 . Stroke
o ° o r— X Axis <Im
s ¥ H [l [|| Stroke +312
EL :[r'r—
= I .
: U d - T -

L\

! \Mofor Supplied
By Customer

Support Bracket
XY-P177BGHM-1

slide Unit
/XY-PIWS R

Mounting Plate

XY-P170H-1

Mounting Plate
XY-P170S-2

35 ‘ NSK CModuIes — pages 11 to 16 ® Motor mounting kits — pages 17 & 18 ® Module mounting plates — page 40 e Limit sensor kit — page 41 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 10 $
/Slide unit Example of reference number:\
. XY-P177S030-2
@33% Stroke Ex.
100 Stroke 100 14, 47,5 030: 300 mm
ENED
i
J L 2 g
b
66
50 100 SA 100 50
®
g 14 + 4 4+ =
<
b [ % + T 3+ 3
12-M5x10 depth|_ 100 SB ®
\ For stroke 300 to 1,000 /
Part Number Stroke, mm L, mm SA, mm SB, mm SE, mm Mass, kg
XY-P177S030-2 300 500 200 200 150 48
XY-P1775040-2 400 600 300 250 200 5.4
XY-P1775050-2 500 700 400 300 250 6.0
XY-P177S060-2 600 800 500 350 300 6.6
XY-P1775080-2 800 1000 700 450 400 78
XY-P1775100-2 1000 1200 900 550 500 9.0
/Support bracket Reference number:\
4-06.6 slotted hole, drilled through ~ |_28_, 28 XY-P177BGHM-1
_ <
= | {T’—’F
g T
5 5 | :
1= ?
©
[Sp] i
! o 4
I I n
]
10 53 36 | 36
63 72

)

N
-

-

Module mounting plate

He——tt—

o T ———

SE

SE 100
>t
6-06.6 drilled through hole to @11 counter bore, 6.5 depth

8.5

Reference number:

0N
Uj

0"
il

95

* We recommend three plates per slide. Reference number designates a quantity of 1 plate.

XY-P170S-2

)

C RM Module — page 14 e

RH module — pages 15 & 16 ¢ Module mounting plates — page 40

) NSK |36

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 39 $

Robot Module™ — MR Series e ™
Combining Brackets

XY-P175 GH M - 1

|
| P175: For R Series | Design Number

| Combination Type

Module Size attached to the moving side |

i Module Size attached to the fixed side | K /

e Brackets for combining modules into
2-axis and 3-axis mechanisms.

e Combining brackets contain dowel
pins to ensure a high reproducibility
of assembly accuracy.

/XY-P1 75DSS-1 \
100
=—30 40
f=—— 25 50
= 26 48 12
‘ | *1 r* 1) Use a plastic hammer or similar tool to install
2’0 S "\’ Jr,: : {} the straight pin and chamfered pin into the
‘; =5 J/éB\ - bracket. For the chamfered pin, please note
&/ ‘ Y orientation and install as shown.
40
50 |
@ o =
130 80 ‘ | ©
' Accessories
100 N
(’®\] Plate 1 pc.
N~ C) j] Straight pin 1 pc.
Chamfered pin 1 pc.
Hexagon socket head cap screw M5x18 ---- 8 pcs.
‘:@) Hexagon socket head cap screw M6x10 ---- 8 pcs.
e 4-¢6.60THRU, COUNTERBRE $11, 8.5 EE
— 10 80
2-)8 HOLE FOR PIN (1)
4-@5.50THRU, COUNTERBRE $9.5, 8 DEEP

- J

37 ‘ NSK C Module mounting plates — page 40 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09 3:44 PM Page 8

/ XY-P175DMS-1

1) Use a plastic hammer or similar tool to drive
in the straight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through o011
counter bore, 8 depth 4-06.6 drill through a11
counter bore, 6.5 deep on back

/XY-P175DHM-1

4-06.6 drill through 611 counter bore,
9 depth on the back

4-09 drill through 014
counter bore, 8.6 depth

216
126 20
27 40 50 116
54 50/ - I |
55 48 & 7)Y @ I
i \ N\ Al 8
@ P %, A\
© @) P Z s Q > Y
@ B ,$ ﬁ(})h 8
8 ¥
© k=]
<
8 g 8 o [0} 8 o B
els oD Far @ | T -
b=/ =1 A% O ©
8
ﬁ§ $ O
PR P\ A B
éé N2 \$/ A @
z z Y
55 / 100
8 110
N 8 200
+1 Hole for 2-08 pin 4-05.5 drill through 9.5 counter bore, 5.4 deep
o8 08 m
il q g T
| H mj ”‘\ |
I [ ® i o
gl | | U2 (@ y
& = A =
i U 2!
Attached Attached
straight pin  chamfered pin
About 0.6kg About 1.6kg
Accessolies Accessories
gg:‘r%?;r’;‘g ;;in s Hexagon socket neag cap screw M6 %20 -
3 H ket M8 x25 -
Hexagon socket head cap screw M5 x18 ------ 4 pcs. SX200nI0eKe e acleapiSCISW B
Hexagon socket head cap screw M6 x16 ------ 8 pcs.
250 330
66 177 116 202 ol
| © I h[ B
© © [ ©
9
H @ |
,
L =]
) ® 0} ) © o—— W 18
© g =
4-09 drilled
through hole
& ¢
& © =
1225 200 10
4-06.6 drill through 4 = ‘ 100
100 75 08 L L
[ T & ° K3
e o
- - 8
****** < T < B 3
R \ o 2
i b i 3
A | ° | q 17 44
\ 2 P -
= 8 & ° 2 ‘ = o
i g iz C— 9 g i
| 5 ) — o
4055 > = ] T ) ™t
diil through e 4-96.6 drilled through hole
@11 counterbore on the back
About 1.6kg
About 3.6kg
Accessories
Hexagon socket head cap screw M6 <18 ------ 4 pcs. Accessories
Hexagon socket head cap screw M5 x16 -—--- 4 pcs Hexagon socket head cap screw M8 x20 -

\_

J

AN

Hexagon socket head cap screw M6 %20 ------ 4 pcs.

KMirror image bracket: XY-P175GHM-2

)

C

RS Module — pages 11 & 12

) NSK 38

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 41

Robot Module™ — MR Series
Combining Brackets

/XY-P1 75XHM-1 \ /XY-P175XHH-1 \

! 130 4-09 dril
= g through 40 130

132
116
I
180
116
L
U

32

3 ]
4-09 drill
) $ $ @ @ . 110 1 “g / (hviugfrw‘
T 4-09 drilled 55 14 counter
64 \_through hole r—> 180, 130 25 _ bore on the back

4-06.6 drilled 8 10
through hole 104

e [ = ° L T s

i ‘Uﬁ?—u " ?':I € 9‘ ‘

U
116

178

52

About 4.0kg
About 1.4kg
Accessories Accessory
Hexagon socket head cap screw M8 x20 ------ 4 pes Hexagon socket head cap screw M8x25 ------ 8 pcs.

Hexagon socket head cap screw Mg x20 ------ 4 pes

\_

/XY—P1 75CMS-1

AN

1) Use a plastic hammer or similar tool to drive
in the siraight pin and chamfered pin into the
bracket. For the chamfered pin, please note
orientation and install as shown.

4-06.6 drill through
011 counter bore

(For bracket fixing,

M6 x12 long is used) +1 Hole for 2-08 pin
180
28 80
40
40 100
50
|
o o]
&g N

7 .
5 &

6.5

4-M5 drilled through hole
4-05.5 dill through ¢9.5 counter bore on the back Hexagon socket head

cap screw M5 <18

25

Plate on the

, pin driving side 08
g )] i
o [ AT 1 [l “'
R s . i
i %%\_wisﬁé Eﬁg %4‘ \‘%j L‘rl T Attached Attached

straight pin - chamfered pin
About 0.9kg

—

Accessories:
Straight pin =
Chamfered pin
Hexagon socket head cap screw M
Hexagon socket head cap screw M x

Hexagon socket head cap scre M6 »10 -

4pcs.
\ Hexagon socket head cap screw M5 x12 -4 pcs /

39 \ NSK ( RS Module — pages 11 & 12 ¢ RM & RH Module - pages 14 to 16 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com




7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 6

Robot Module™ - MR Series
Module Mounting Plates

XY-P170 H - 1

Design Number

Module Type

H: RH Module
M: RM Module
S: RS Module

| P170: For R Series |

e These plates are used for mounting
the module in a “top down manner”.

e Two mounting plates are required per
fixed module.

e Part number designates a quantity
of one mounting plate.

—p—

\

About 0.4kg

Accessory
Hexagon socket head bolt M5 x 20 — 4 pes

2-$6.60 Thru 4- $5.50 THRU
@11 Counterbore 9.5 Counterbore
6.5 Deep 8 Deep Farside
8—t 100
=
.
S P [
T & -
40 b
oay poay R —
# @ @ | 1
275 I
]
l &) 85 F==1 |
] 1ok

\_
>

AN

/XY-P170M-1 \ XY-P170H-1
4-09 drill through, ©14 counterbore, 8.6 depth
4-09 drill through, 014 counterbore, 8.6 depth 4-09 drill through, 14 counterbore, 12 depth on the back
4-06.6 drill through, 011 counterbore, 9 depth on the back o] -
—| 4-C3 = —
«©
= T
@] o
i ¢
8 g 8 o| o
—| — -~ - S
N N
& S—+
©
4 | (aY}
g 200 ® |20
216 —
200 |20
About 1.8kg 216
About 2.4kg
Accessory
Hexagon socket head bolt M6 x20 ------ 4 pcs. Accessory
Hexagon socket head bolt M8 <20 ------ 4pcs.
( RS Module — pages 11 &12 ¢ RM & RH Module — pages 14 to 16 ) NSK\40

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 43 $

Robot Module™ — MR Series e ™
Limit Sensor Kits

XY-L * * * * RM

I_ Definition of ****

3542: RH Sensor Kit
3543: RM Sensor Kit
3544: RS Sensor Kit

\ /

* Provides necessary hardware to set module stroke RH Module Sensor Kit- PN XY-L3542RM
limits and home position externally.

e RH Module Limit SensorFlag . .................. gty 1
* Specially designed kit for each module type. e Limit Sensor (Omron EE-SX672A) ............... qty 3
e Sensors are mounted using module T-slots for e Limit Sensor Cable with Connector, 2m long
maximum flexibility in positioning sensors. (Omron EE-1010-R2M) ... ... .ot gty 3
) ) ) e Limit Sensor T-Slot NutPlate ................... qty 3
¢ Kits come with “High-Flex” sensor cable for
) - e M3 x 8 Socket Head Cap Screw ................ qty 6
high reliability.
e M3x6 FlatHead Screw .. ..................... gty 1

e Sensor flag mounts below slider mounting surface.

RM Module Sensor Kit- PN XY-L3543RM

/ ] \ e RM Module Limit SensorFlag .................. gty 1
Module Cross Section e Limit Sensor (Omron EE-SX672A) ............... gty 3
e Limit Sensor Cable with Connector, 2m long
J (Omron EE-1010-R2M) ... ... . i qty 3
U e Limit Sensor T-Slot Nut Plate . .................. qty 3
e M3 x 8 Socket Head Cap Screw . ............... gty 6
U e M3x6FlatHead Screw .. ..................... gty 1
@ RS Module Sensor Kit- PN XY-L3544RM
A * RS Module Limit SensorFlag . .................. gty 1
e Limit Sensor (Omron EE-SX672A) ............... qty 3
e Limit Sensor Cable with Connector, 2m long
(Omron EE-1010-R2M) ... ... . i gty 3
e Limit Sensor T-Slot NutPlate ................... qty 3
E e M3 x 8 Socket Head Cap Screw ................ qty 6
e M3x6FlatHeadScrew ....................... gty 1
—— B =

- )

Dimension A Dimension B
RH Module 90mm 14mm
RM Module 85mm 14mm
RS Module 70mm 14mm
41 ‘ NSK C RS Module — pages 11 & 12 ¢ RM & RH Module — pages 14 to 16 e Support slide — pages 35 & 36 )

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN 5/11/09 3:44 PM Page 4 $

Robot Module™ — MR Series
Square Nut for Module T-Slots

XY-P170 M 3 - 1

/XY-P1 70M3-1 \

e This nut is used to secure 62
accessories to the side of the module.
e Nuts are supplied in sets of 4. D W\
&;( ©

e T-slot locations are shown below
for the various module types.
M3 tap through
t=2.3

- /

T-Slot Locations on Modules
/RS Module \ /RM Module \ /RH Module \

— 4
. -
< =)
<
A g
_1 i
o © N
52 =
5.2 5.2

( RS Module — pages 11 & 12 RM & RH Module — pages 14 to 16 ) NSK\42

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com

o



7529 -NSK Robot Module.FIN

5/11/09

NSK Precision America, Inc.

US Headquarters &
Manufacturing Facility

3450 Bearing Drive
Franklin, IN 46131
tel: 1-800-255-4773
www.nskprecision.com

Worldwide Sales Offices

3:44 PM Page 1

NSK PRECISION AMERICA, INC.

NSK Ltd.—Headquarters, Tokyo, Japan
Americas & Europe Department

Asia Marketing & Sales Department
Africa

South Africa:

NSK South Africa (Pty) Ltd.

www.nsk.com
tel: 03-3779-7120
tel: 03-3779-7121

Johannesburg tel: (011) 458 3600
Asia and Oceania

Australia: www.nskaustralia.com.au
NSK Australia Pty. Ltd.

Melbourne tel: (03) 9764-8302
China:

NSK Hong Kong Ltd.

Hong Kong tel: 2739-9933
Kunshan NSK Co., Ltd.

Kunshan tel: 0520-7305654
Guizhou HS NSK Bearings Co., Ltd.

Anshun tel: 0853-3521505
NSK (Shanghai) Trading Co., Ltd.

Shanghai tel: 021-62099051
NSK representative office

Beijing tel: 010-6590-8161
NSK representative office

Shanghai tel: 21-6209-9051
NSK representative office

Guangzhou tel: 020-8732-0583
NSK representative office

Anshun tel: 0853-3522522
India:

Rane NASTECH Ltd.

Chennai tel: 04114-65313, 65314, 65365, 66002

NSK representative office

Chennai tel: 044-4334732
Indonesia:

PT. NSK Bearings Manufacturing Indonesia

Jakarta tel: 021-898-0155
Korea:

NSK Korea Co., Ltd.

Seoul tel: 02-3287-0300
NSK Korea Co., Ltd., Changwon Plant

Changwon tel: 0551-287-6001
Malaysia:

NSK Bearings (Malaysia) Sdn. Bhd.
Kuala Lumpur

NSK Micro Precision (M) Sdn. Bhd.
Kuala Lumpur

New Zealand:

NSK New Zealand Ltd.

Auckland

tel: 03-7958-4396

tel: 03-961-6288
www.nsk-rhp.co.nz

tel: (09) 276-4992

Philippines:

NSK representative office

Manila

Singapore:

NSK International (Singapore) Pte Ltd.
Singapore

NSK Singapore (Pte) Ltd.

Singapore

Taiwan:

Taiwan NSK Precision Co., Ltd.
Taipei

Thailand:

NSK Bearings (Thailand) Co., Ltd.
Bangkok tel: 02-6412150~58
NSK Safety Technology (Thailand) Co., Ltd.

Chonburi tel: (038) 214-317-8
Siam NASTECH Co., Ltd.
Chachoengsao

Europe

NSK Europe Ltd.
(European Headquarters)
Maidenhead, England
France:

NSK France S.A.

Paris tel: 01 30 57 39 39
Germany:

NSK Deutschland Gmbh
Disseldorf

NSK Steering Systems Europe Ltd.
Stuttgart

Neuweg Fertigung Gmbh
Munderkingen

Italy:

NSK ltalia S.PA.

Milano

Poland:

NSK Europe Ltd. Warsaw Liaison Office

Warsaw tel: 48-22-645-1525, 1526
NSK Iskra S.A.
Kielce

Spain:

NSK Spain S.A.
Barcelona

tel: 02-759-6246

tel: (65) 273 0357

tel: (65) 278 1711

tel: 02-2591-0656

tel: (038) 522-343~350

www.eu.nsk.com
tel: 0162-850-9800

tel: 02102-481-0
tel: 0771-79082-277

tel: 07393-540

tel: 02-995-191

tel: 48-41-366-6111

tel: 93-575-4041

Turkey:
NSK Bearings Middle East Trading Co., Ltd.
Istanbul tel: 90-216-442-7106

United Kingdom:

NSK Bearings Europe Ltd.
Peterlee, England

NSK UK Ltd.

Newark, England

NSK Steering Systems Europe Ltd.
Coventry, England

North and South America
NSK Americas, Inc. (American Headquarters)

Ann Arbor, Michigan, U.S.A. tel: 734-913-7500
Argentina:

NSK Argentina SRL
Buenos Aires

tel: 0191-586-6111

tel: 0163-660-5123

tel: 024-76-588588

tel: 011-4762-6556

Brazil: www.br.nsk.com

NSK Brasil Ltda.

Sao Paulo tel: 011-3269-4700

Canada: www.ca.nsk.com
NSK Canada Inc.

Toronto tel: 905-890-0740

Mexico:

NSK Rodamientos Mexicana, S.A. de C.V.

Mexico City tel: 5-301-2741

United States of America: www.us.nsk.com
NSK Corporation
Ann Arbor, Michigan

Sales Offices:

Ann Arbor, Michigan

Santa Fe Springs, California
NSK American Technical Center
Ann Arbor, Michigan
NSK Precision America, Inc.
Franklin, Indiana
San Jose, California

tel: 734-913-7500

tel: 734-913-7500
tel: 562-968-1000

tel: 734-913-7500

tel: 317-738-5038
tel: 408-944-9400
www.npa.nsk.com
NKS Steering Systems America
Bennington, Vermont

NSK Latin America Inc.

Miami, Florida

tel: 802-442-5448
www.la.nsk.com
tel: (305) 477-0605

NSK Ltd. has a basic policy not to export any products or technology designated as controlled items by export-related laws. When exporting the products in this brochure, the
laws of the exporting country must be observed. Specifications are subject to change without notice and without any obligation on the part of the manufacturer. Every care has
been taken to ensure the accuracy of the data contained in this brochure, but no liability can be accepted for any loss or damage suffered through errors or omissions. We will

gratefully acknowledge any additions or corrections.

Robot Module MR Series 2009 Printed in United States ©NSK 2009. The contents of this publication are the copyright of the publishers.

Courtesy of Steven Engineering, Inc. - 230 Ryan Way, South San Francisco, CA 94080-5370 - Main Office: (650) 588-9200 - Outside Local Area: (800) 258-9200 - www.stevenengineering.com





